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JEE-Main-23-01-2025 (Memory Based) 
[EVENING SHIFT]  

Math 
 
Question: In AP  with        - px +q was the equation and their roots are 10th and 
 
11th terms and sum of 11 terms  is 88 find q - 2p. 
Solution:  

 
 
Question: f a square is divided in  4 × 4 squares. If two squares are  chosen randomly 
then the  probability that the squares doesn’t  share common side is  

    

    

    

    

Options: 

(a)  

(b)  

(c)  

(d)  
Answer: (b) 
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No. of pair squares which share a common side   = 24 = (12 × 12) 

No. of squares which don’t share = 16C2 - 24 

= 120 - 24 = 96 

 
Question: There are 5 boys and 4 girls. The sum of number of ways to sit them such that 
all boys sit together and number of ways such that no boys sit together is equal to 
Solution :  

 
 
Question: Find the variance of numbers 8, 21, 34, …, 320.  
Solution :  
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Question: Let S be the region consisting of points (x,y) such that 

 if area bounded by region     

is find “a”.  
Solution :  

 
Question:  Shortest distance between P(0, a) and parabola y2 = 4x is 4. Find the equation 
of circle whose center lies on axis of parabola and passing through P and focus of 
parabola.  
Solution :  
y = mx  - 2m - m3 
0 = ma - 2m - m3 
m=0 m2 = (a-2) 
(a-m2)2 + (2m)2 = 16  
4 + 4m2 = 16  
m2 = 3 
a = 5 
Eq of Circle  
(x-1) (x-5) + y2 =0 
x2 +y2 - 6x +5 =0 
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Question: Find length of chord whose midpoint is  of ellipse  
Solution :  

 
 

Question: If the square of the shortest distance between the lines 

​ and where m, n are coprime numbers then m + n is 
equal to 
Options: 
(a) 6 
(b) 9 
(c) 14 
(d) 21 
Answer: (b) 

 
 

Question: If    then the value of  definite integration                            
is  
Options: 

(a)  
 

(b)  
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(c)   

(d)  
Answer: (b) 

 
 
Question: In expansion o f (1 + x)p (1 - x)Q coefficient of x and x2 is 1 and -2 then find p2 
+ q2. 
Solution :  
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Question: If then find cos(x(2)).   
Solution :  

 
Question: A = {(x, y)| |x + y| ≥ 3}; 
B = {(x, y)| |x| + |y| ≤ 3} 
Let C = A ∩ B. Find the sum of x + y ∀ x, y ∈ C. 
Solution :  

 

 
 
 

 


